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(A) None (B) One
(C) Two (D) Three
(E) More than three

. In a certain code JOURNEY is

written as TNISZFO. How is
BONDING written in that code ?
(A) ANMEHOJ (B) MNAEHOJ
(C) MNAEJOH (D) OPCEFMH
(E) None of these

. Four of the following five are alike

in a certain way and so form a
group. Which is the one that does
not belong to that group 7

(A) MP (8) AD

€ (0) QT

(€) F

. What should come next in the

following number series 7
987654321876543217
654321

A 8 B 5

© s 0) 2

(E) None of these

. Mis borther of K. P is sister of K.

R is father of P. How is K related
©wR?

(A) Son

(B) Daughter

(C) Son or Daughter

(D) Data inadequate

(E) None of these

8. The positions of the first and the

10.

fifth digits in the number 45321897

50 on. Which of the following will
be the third digit from the right
end after the rearrangement ?
(A) 8 | 2

© s (0) 3

(E) None of these

. How many such digits are there

in the number 62591483, each of
which is as far away from the
beginning of the number as when
the digits are arranged in ascend-
ing order within the number ?
(A) None (B) One

(C) Two (D) Three

(E) More than three

Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?

(A) 35 (B) 45

©c) 21 (D) 28

(E) 14

Directions —(Q. 11-16) In each

of the questions below are given three
statements followed by two conclu-
sions numbered | & II. You have to
take the given statements 10 be true,
even if they seem 1o be at variance
from commonly known facts. Read all
the conclusions and then decido which
ol the given conclusions logically
follows from the given statements dis-
regarding commonly known facts.
Give answer :

(A) If only conclusion | follows.

(B) I only conclusion Il follows.

(C) M either conclusion | or Il
follows.

(D) if neither conclusion | nor Il
follows,

(E) If both conclusions | and Il
follows.

12.

13.

14,

15.

16.
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Directiona—(0. 17-22) Study
the following arrangemant carafully
and answar the gquestions given
e —

A% MIEJAPAA®RIBEUTT
BITOEEWAEVNE

17. If all the numbers in the above
are dropped, which
of this following will be the eighth
from this beft and 7
(A) * B) A
ic) # o) @
(E) Mone of these
18, How many such symbols are
there in the above arrangamant,
@ach of which is immadiately pre-
eeded by a number and imme-
diately foliowed by a consonant ¥
(&) Nong (B) One
(C) Twa
(E} More than threa
19, What should come in the place of
question meask (7] in the following
sories, based on the above
?
MEJ PA® BUT 7
[y 103 By 1G5
[C) @15 oy 10
(E} Mona of these
20, Which of the lollowing is the
ninth to the right of the twentiath
trom the right end of the above
T
A ® (B} A
c) 2 mT
(E} Mone of these

21, How many such numbars are

22, Four of the following five are alike
in a certain way based on their
positions in the above arrange-
ment and so o & group. Which
is the one that doas not belong to
that group 7
(A) ME%
o T
{E}) T&U
Directions—(Q. 23-28) Study

the following information caredully and

answer the quastions given below—
A B C D EF GandH are
sitling arcund a circle facing at the

B) 4 %P
D) WV 5

center. D is third to the right of A and
sacaond to the left of H. B is second 10
the left of G wha is not an immediate
neighbour of either A or D. E is third
i the rightt of G,
23 Who ks second 1o the left of F 7
{4 D
(B} B
icy @
(D) Data inadeguate
(E} Wone of thesa
24. Who is 1o the immediate right of
o7
Ay E (B) B
) H o) F
(E) Mone of these
25. In which of the following is the
Izst parson sitling in between the

first and the sacond parson 7
(A) EBD (B) BHC
() HCG (D FED

{E) Hone of thesa

26. Who is fo the immadiate right of
H7?
) C
B B
c) &
(D) Data inadequate
(E) MNone of these

27. In which of the following pairs i
tha first person sitting to the
immediate left of the second

parson 7

iA) BD iB) HE
{C) EF (D) FA
(E} MNone of these

28, Wha is fourth to the right of F 7
) C B 0
icy B o) H
(E) Mone of these
Directions—(Q. 28-32) Follow-
ing questions are based on the five
three-digit numbaers given below—
518 723 496 375 284
29, If the positions of the first and the
thind diigits of each of the above
numibers are interchanged, which

of the tollowing will be the second
digit of the highest number 7
A 1 By 2
c) 8 o7
{E} 5

30, What s the sum of the digits of
tie third highest number 7
) 14 (B8} 12
{Cy 19 o 15

(E} 11

1, i ‘1" is added to the first digit of
aach number and "1 is sublracted
from the third digit of sach num-
ber, which of the follewing will be

this niww second lowest number 7
(A) 518 B) 723

(C) 486 D) 375

(E} 254

a2, i the positions of the first and the:
second digits of each of the
above numbers ans imerchangad,
which of the fallowing will ba the

third digit of the lowest number 7
a8 B 3

ic) & oy 5

(E) 4

Directions —(C. 33 and 34) Study
the Baligwing information carafully and
angwer the questions given below :
i) P = Q' means P is brother of Q.
(£} ‘P = means ‘P is sister of O
(#) ‘P + Q' means P is father of O
W) 'P + Q" means ‘P is mother of Q.
a3, Which of the following means 0

is niphew of A’ 7

(&) DxM+R

B R-M+D

(C} R-M+DxT

D) R=M+D

(E}) None of these
34, Which of tha following means ‘M

s matemal uncla of T" 7

(A) MxR4+T

B) MxR+T

C) Ted=N+M

D M=R+T

(E] Mone of thase

Directlons—(Q, 3540} In e
fellowing questions, the symbols &,
@, *, % and § are used with the
following meaning as  illustrated
below—

P © Q' means P is neither greater
than nor smalker than Q.

‘P @ O means ‘F is smaller than QF.

‘P § O means ‘P is greater than O,

P % O means 'P is either smalber
than or equal to Q.

P& 0" means P is aither greater
than or equal to 0"

Mow in each of the lollowing
guestions assuming the given slate-
ments o b trua, find which of the wo
conclusions | and 1l given below them
isfare definitaly true 7
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Give

35. Statement
BxK KERR%E
Conclusions : |. E@K
. E@B

36, Statement
NEKKxF FiWw
Concluslons : |. F%MN
I WaK

Directiona—(C. 41-50) In aach of the questions given balow which one
of the five answaer figures on the right should come after the problem figures

Answers

(&) It only Conclusion | s trua.

(B} I only Conchusion Il is true.

() I either Conclusion | or Il s
true

(D) H neither Conclusion | nar I
Is trui

(E) M both Gonclusions | and i
are trua.

37. Statement

JENN%F.F*D

Conclusions : |. F@&J

I D%N

34. Staterment

JRHNNED DS K

Conclusions : |. D©J

n o&EJ

30, Statement

M*T.TE@RRE&K

Conclusions : |. KST

. R%M

40, Statement

REMME V. VSF

Conclugions : |. F@M

on thes left, if the saquence were continued 7

I ViR

Problem Flgures Answer Figures
L] Vo mUoEUSE =] v muo e e s Eluc e
Fi o a o8 afls s o aholras|lraa|lFaolzea
o FR| ocfEofajloPmlor Blce @
W C w T w T T

&2, ‘Em'mﬁ: TOSRE

(A (B} [C) (D) (E)

[ 3 [ B Lid L] DR ] PR ) B lalel ol

-Iﬂmr ‘F j’gg Lo I}UOF Lel o}
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SAMMEINE 2 Z 2B ES
Ay B G D (E)

[ 7. PSRN I F—— Pa— TR PP ) R -
(AN EE oy (E)

ol I R BN T [ = = = =
W ® © O &

NI ENREREE

B © o g

& & & [+] =]

r = r n

& o |a e ) a o Jja. la
() (B} (€] D) (E
u CINNCEN LD L EDIEELICELIEET
L (L] [ 1] i
L T (= (=) I (]
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Answer: Reasoning

1 D 26 A
2 A 27 E
3 D 28 D
4 B 29 A
5 E 30 C
6 C 31 D
7 C 32 A
8 C 33 D
9 C 34 A
10 B 35 A
11 B 36 D
12 C 37 A
13 E 38 C
14 A 39 A
15 D 40 B
16 B 41 A
17 B 42 B
18 C 43 E
19 D 44 D
20 A 45 C
21 C 46 C
22 D 47 A
23 C 48 E
24 B 49 B
25 A 50 D




